

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda

1 Which vaccine is giveil to children at birth ?

(A) BCG - (B) DPT

(C) Measles ' (D) Chickenpox
T E W &GN B S fear wen & 7

(A) SR, _ (B) 43

) aau . (D) wus

2 Facilities such as medical, legal, pohce counsellmg, sheiter are bemg provided at one.

centre by Government, is known as :

PuRerta, s, g, awaRi, T sl T W T T T
¥, g ¥ - o

(A) i (GARIMA) ' (B) awxiiven (APARAJITA)

(C) =t (NARI) h | (D) Ll (MAHILA)

3  ICDS programme was launched in year —

o W 3w wRm 6 g Wz A & —

(A) 1973 - (B) 1974
(C) 1975 ®») 1976
-4 Which one of the following services is not provided to the beneﬁcmnes of ICDS ?
(A) Employment S (B) Health Check-up
(C) Immunization . (D) Referral Services :
ﬁqﬁiﬁa%%aﬁw—@réﬁmm%mmﬁﬁ@mﬂﬁﬁaﬁ% ? |
(A) T=rm | . (B) weE
(©) TrarmTw D) ’ctrr«-f ﬁﬂrq
5 - The first indicator of PEM is : _
(A) Skin changes - (B) Hair changes
(C) Over weight for age (D) Under weight for age
W et HUeeT @ uEer gus ¥ o
(A) == H UiEde (B) & wiad

(C) o0 % oFER ofts Tod - (D) oF % AN HH T

6  ‘Kwashiorkar’ term was coined by :

(A) Louis Pasteure : (B) Jelliffe -

(C) Danidson : (D) Cicely Williams
‘T o T g A T
(A) T TR (B) 3w
(€) shmw (D) fraed Referrs

7  Severe wasting of muscles is observed in children with —
(A) Anaemia ' {(B) Osteoporosis -
(C) Beriberi (D) Marasmus
aaﬁﬂqmﬁﬂﬁﬁﬂvﬁtmﬁ 9T B dwr W & g -
(A) TaaREr (B) Ry gfﬁm |
© =ied ; - (D) @t

si/was2] 9 | 2 | [ PT.O.

- 10

1

12

14

Whooping cough is primarily a disease of —

(A) Infants _ (B) Oid people

(C) Teenagers (D) Adults

o g Wi d T e al Gy -

(A) et fgsi & (B) g5 @rf &

(C) feuiy =r (D) aaws &t

Which of these is an infectious disease ?

(A) Hypertension {B) Type 2 diabetes

(C) Cancer (D) Tuberculosis

1 ¥ $H-91 B HHED T ¥ 7 |

(A) woF @™ (B) . Zr5u 2 wyHE

(C) FuY (D) Wik

‘Genu Vulgum’ is a result of : ‘

(A) Fluoride toxicity (B) Excess. of Manganese
(C) Deficiency of Potassium (D) Iodine toxicity

W, FET it ¥ | |
(A) witgs farwwen @t (B) i @ fresar @
(C) wifiraw # &i & D) RSN fywwEea o
Extra Energy required by lactating mother during first 6 months is —
(A) 500 kcal / day ' (BY 600 kcal / day

(C) 700 keal / day ’ D) 800 kcal / day

uell AT B v & AeE & IR ofilaw ot @ srayamd o &~
(A) 500 kcal / wfafe - (B) 600 kcal / wiafas

(©) 700 keal / ufaies (D) 800 kcal / wfaRm
Nausea among pregnant women can be reduced by eating —

{A) Food rich in fat - (B) Spicy food
(C) Small and frequent meals (D) Large meals
el Afeemet F € uaer B o9 fear o wHw § h S A -

(A) =W § A AT - (B) #@EwRI A
(C) B it wmam W (D) afie e
13 Which of these is a combined vaccine ?
¥ § W Hgaa T & ?
(A) HIB (B) DPT
(C) HEP B D) arldar (Varicella)
Sabla scheme implemented at the ICDS level is for —
(A) School age children (B) Adolescent girls
(C) Elderly women (D) Working women
HaE AT S g W TE R WA g b, a6 E ~ |
(A)@ﬁﬁwﬁsa‘vq‘rﬁsﬁlﬁ B) ety &
(C) 7= wiwnan % fd | (D) smgrH Afgwren & R
sL/was2] 3 .
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7

15 The Red Cell life span is :
(A) increased in PEM.
(B) does not change in PEM.
(C) shortened in PEM.
(D) extended in sodium deficiency.
A T SR B ey omhy -
(A) SN i g ¥ 7% @i g
(B) Wer FoTt geivew ¥ smraifa Rl ¥
(C) WEm &= guiwer & &y & S 5 1
(D) wifeaw & w5 ¥ a5 wrh § 4

16 - Malarla is transmitted from human to human by the bite of mfected mosqmto -

(A) Aedes aegypti (B) Aedes albopictus

(C) Female anopheles - - (D) Culex

Forg P west & F1ed § TR AT § W ¥ b ¥, 9 ¥ -
{A) = o | (B) i arifew

(C) mmr wARefr (D) e

17 The bormone that st:tmulates the alveoli in the breasts, resulting in milk production
is : .

(A) Prolactin (B) Oxytocin' -
(C) Leutinising hormone (D) Estrogen
B S A § gl B aui s ¥, forerds o wew qu *t ST g 8, 9

T -
(A) wwifres (B) sifwiifas
(C) wifemshi el D) &N
18 Requirement of which- nutrient becomes double during pregnancy ?
(A} Iron (B) Protein
(C) Energy (D) Calcium
ralaen & o fou dwew a A smaswwdr el 8 o ¥ 2
(A) wreaa (B) W
© ==t (D) it

19  Oxalates present in certain vegetables prevent the absorption of which of the folldwing 7

(A) Tron (B) Vitamin D

(C) Iodine (D) Sodium

@wmﬁm@aaﬁﬁzﬁﬁﬁ%ﬁmﬁaﬁaﬁwﬁw% 7

(A) | (B) faefm & : |
(C) omaN (D) wifsas

51/ WAS-2 ] of 4 [ PTO.
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The three en¢rgy yielding nutrients are — -

20
{A) Vitamins, protein and minerals
(B) Vitamins, carbohydrates and fat
(C) Fat, carbohydrates and protein
(D) Minerals, vitamins and carbohydrates
T S HE AW A 9E T ¥ -
(A) Taafm, W iR @
(B) faeim, wwle ol
(C) g, wmekr T WA
(D) wfm, Fele et wels
21 Fron is en essential element for the formation of which of the following ?
(A) Haemoglobin (B) Myoglobin
(C) Adrenaline _ (D) Pepsin
T ¥ fpad Tl ¥ @i w@ aasgd T ¥ 7
(A) et | (B) ArErAE
(C) udrri (D) ¥Rgs
‘22 The risk of hypertension is increased by high intake of :
(A) Phosphorus (B) Potassium
(C) Sodium (D) Sulphur
mﬁww%aﬁﬁaﬁ@fwwmmww% Elz-:%—-
(A)  HEERY (B) uqrfiraa
(€) ufsaw (D) |6t
23 Base of the food pyramid is formed of — _ -
(A) Cereals and Puises (B) Vegetables and Fruits
(C) Sugar | | (D) Meat and its products
w frafe w amat T ¥ - o |
(A) s ofT T A o (B) wfewar ol vl @
(€) yud | | (D) A9 o ous =t o
24 Whole grains are important source of :
- (A) B - Vitamins (B) Vitamin C
(C) Lipids (D) B-Carotenc
g S arey g € -
C(A) @ - el ¥ (B) frendw & &
(©C) FwH (D) d-HWe &
s1/was2] S | 5 _ [ P.TO.
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51/ WAS-2 ] ‘gﬂ’ 6

The RDA for iron during pregnancy is —

(A) 25 mg/day (B) 30 mg/day

(€) 35 mg/day (D) 40 mg/day

R & IR e @ AW e smerda arn & -

(A) 25 frarn ufRew (B) 30 frum. wfRs

(C) 35 Fra wfelew (D) 40 fora, Hﬁrﬁ:ﬂ

Average weight gain durmg pregnancy should be :

(A). 15-17 kg. : B) 5-7kg

(C) 10-12 kg, S D) 89 kg

iRt A oftmas a9 ﬂ‘ E‘tﬂﬁ'& A Al - -

(A) 15-17 fsmr, o (B) 57%9‘!

(C) 10-12 fur. - (D) & 9 i%m

Constipation in pregnant women can be treated by takmg -

(A) Only fluids (B) Plenty of vegetables frults and ﬂulds
(C) Fatty foods Lo (D) Starchy foods
ﬂﬂaﬁrqﬁmﬁﬁ‘mwwsﬂ#ﬁmﬁmmw%— -

(A) e T waref (B) wyx 7m0 & wivewd, waﬂ'(a“{mw&
(€) aargaamwﬁ (D) Elégﬂaarawef Foo
The increasing size of uterus m pregnancy causes ~ |

(A) Diarrhoea L - (B) Fever o

(C) Heartburn and amdlty (D) Severe headache

it § Tl @ awere Tﬁ% @r B‘IHT % -

(A) sfme (B) Twr

(C) = ot uhhisd ) dar fre a"rf
" Vaccine recommended to prevent chlckenpox is —

(A) Rotavirus " (B) BCG

() MMR (D) Varicella
mmam%mmw%— B

(A U= AR | B) &t & i
©) T w o D) ard
MMR vaccine is recommended to prevent —

(A) Measles (B) Malaria o

(C) Pneumonia (D) Polio- Lol
@wmﬁaﬁ?ﬁm&m%mw%sﬂ%wasfm— o
A @aa (B) . wafay EREET
(C) =gwtPrm. (D) wifear

[ PTO.
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‘36

squhirﬁﬂas o R o foer i ¥ 7

'..":'(C) aammwm:

(B) & A & W HW |
(D) <& 9 WG s ¥

GET IT ON
Google Play

ﬁmmﬁﬂé’rﬁw mﬂﬁamm&iﬁaﬁr%—
(A) om@wd (B) TSy
(C) eﬁm D) ==
'"*f%ma?raﬂrrarr'-m?rﬂ%s’r’mwi_ar%ﬁqﬁé’r}m%‘— |
(A) swfdm (B) et
(C) s\ g (D) Gﬂﬁlﬁ
34 ﬁmi%if@aﬂﬁmgm’(mm& H%aqaﬂi’rﬁerﬁf %WW%WW%W
& —.
(A) =% & O 9 (B) & wiw  wgw =y
(C) T ¥ |1 Heam D) mmmaﬁ
35.'maﬁrma=hm’ahaﬁﬁamad%m-
(A) ¥RTE e Rrsdmr &1
B) Wag%maﬁgﬂa@mﬁﬁam%i
€ whaftwwdod
(D) s&m BT |
‘Discrepancy’ 91 % forg Rl B Ql'ﬁ 1 ﬁ"ﬂ ?
(A s -  (B) el
" (C) TGl HET (D) sregaem
w P & e o R oA 1 e e b i
o (A) Confidential (B) Condltlonal
(C) _Credlt (D) Close
st/was2] S . 7 L [ PTO.
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A) @
(C) ‘ﬁ?ﬂ

44

45

51/ WAS-2 ] Sj o 8

© e

(A) eﬁw |

Rty wwaﬁmﬂmalawaﬁﬁmm

(A T e - wEm

P 3§ o b el
(A) Fgow - ® g
(©) “‘ﬂmﬁ | (D)Wm

ﬁﬁrﬁﬁaﬂwmamw wwﬁaﬁ’rﬂﬁ% ,
o) P o S

A) W o (B)sfa
© g ® W

wsmmaﬁﬁaﬁqwaa@— -
() ol c A

(C) WA

Ay s -
(C)‘F.'.'

(B) WQT

(D)‘FE?

AT Wﬁmarémrm?é’f% ? -
- ®) §m
(D)ﬂE

mmwaﬁasmw&ﬁq~-
®) wE - T
(C)W—-ﬁw | (D)man T
W@m amg!qwaﬁraefamm- -
A) ¥R - By o
(C) vogwd - @@

[ PT.O.

1w

L .8

49

50

51
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’ GET IT ON
Google Play

ﬁmﬁﬁf@a#%aﬁ& = R -

B) faga
(D) femrar

ﬁwmwﬂrﬁ%ﬂw$mﬁsmg§% ?

(B)’I%"ﬁ'ﬂTﬁ'ﬂf’\?ﬁﬁfém
(D) ara, W, eRor

(A)sﬁqé’fgﬁtgq@f
(C)aar’—ﬁa?rtlﬁﬁﬁmw

ﬁwﬁwﬁﬁaﬁmaﬂrmmfrmﬁq

T (A) maﬁnaﬁ—mﬁm&ﬁﬁﬁml

(B) swwll %t 4y e # 1
(©) 8% v & o W

(D) T Al g o |

ﬁmﬁrf@aﬁaﬁq—mmm;@%? 5
(A) o %t el B g@w ™ 7 (B) mwwm% ?
(C) e - B @ | (D) TN N A G W IS AT

et & 4 @ 1 e e ¥ 7
(A) gar U wWr f )
(B) oo & T wmar ¥ |

(O wwwﬁsﬁwmmw% ?

(D) o PR T WY |

-aﬁmmgﬁrq~

(A) e & R v ¥ &l & wuren @), wEarer weaeT 1
B) s AT A wrm A o wema ¥ 1
(€) frr & Torw wu & wia & wawar ), ¢ sgars wewEr & 1
(D) mﬁaﬁsﬁ-wmmm%ﬁﬁmm%;

""‘(Gl'v\’ra%?rwar{m#?m%ﬁw‘(é‘r%l -
-"';”-_f-i”mam%mmm%laﬁﬂ—mwﬁﬁ@rwmmwwﬁ%?
(© i

(B) WHRIX 9N
D) grEm

[ PTO.-
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_Sequence in Whlch growth starts at the center of the body and moves towards the
extremities : :
'(;A) Cephalocauda.l pattern _ (B) Proximotilstal ‘pattern -
f‘-'j"::(C) Distal pattern -~ ' (D) Dynamic pattern
etgtmﬁwﬁq%arﬁrésﬂﬁﬁ g;az’lt?f%aﬁ“{a%atza%aﬁtaﬁ%

ECh o - @) e n

U W w%:aaq—ﬁra&r% P e
| (B) twﬂr

54 ﬁ’ﬁm ﬂﬁ'ﬁfﬂ?ﬁ—tﬂﬁﬁ:% ?_}
o _' (A) mt Hﬁt |
o e Play that involves social mteracuon with peers:
¥ '(A) Constructwe play (B Intellectual play :
X (C) ‘Social play S | (D) Practlce play
""(A)Waﬁr R (B)ﬂ‘ﬁ%%@ﬁ
(C)mﬁ?ﬁ@a (D)m@a

S 55 e A I % 7
o Lo _(A) mﬁ*amt L

56 ﬁrféiim alﬁﬂ'ﬁ?mmm ! EOEIN SR EF I E F R R R e 18
T _'__(A) ﬁ o (B) %‘g '_ AR - 63 " Whlch of the foilowmg is NOT the developmental task of early chlidhood stage ?
e : :1-'.'(C) 35"15““‘ (D) cﬂaqa.‘nma BRSPS SRR {(A) Leaming to control the elimination of bodily waste | S

R i _ e (B) Learning sex differences and sexual modesty

(C) Learning to take solid food ‘

(D) Learning language to describe social and physwa] reahty SR
ﬁm%ﬁgaﬁéﬁam@wwﬁmwm (%Wﬁw)ﬂﬁ% ?
(A) il & omfire (ww—v) & Presre @ Prisor S o
(B) Rfr-9g wd drsherar tﬁ@m |

(C) IR @ AT R

"(D) %ﬂf‘rﬁiﬁqﬁmﬁwm\aﬁﬂsﬁm Watrwu‘rtwﬁw

S 57 'ti zwt @ ﬁwr ar @r W o t 8

L _'(. ) Sl - 64 Which of the followmg is NOT the principle of growth and development ?7
(A) Development proceeds from specific to general o

S (B) Dévelopment is cumulative in nature
GAEA. ©) Dcvclopmcnt is a continuous pmcess o

1)) Development is multidimensional in nature T
R ﬁﬁrﬁdﬁﬂa 33 E?H T e S RE A

T M demm R ek ReE e o
L (B) o % w st ¥ Wﬁﬁt Hta'—a

G (C) fraEr & fomi@ S _
" (D) ﬁamtr agawﬁt E’I?ﬂ r

SIIWASZ] Ej’ B | RO - [prTO.

B 59 ?mﬁ 3?&1 ff Er?Fr m sﬁw % 7
L W oem
L © Qﬂs

e "mwr ﬁ s % ~ | S
-(A) anat SRR
S (C) 'GWHIEIT

siwsa) ‘gﬁ’
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65 The first stage of Piaget's cognitive development during which the infants and toddiers

build schemes through their senses and motor activities is known as :
(A) Formal operational stage (B) Concrete operational stage
(C) Preoperational stage (D) Sensory-Motor stage

m%wm%mﬁWWﬁWW%WWMW
TF wiadsie afofafet & g gheet () s ¥ 2

.(A)aﬁwmamw (B)iéﬂﬁmmmm_
(C) w-ifirarers eraen (D) wed-Ysim araeen

66  Which among the .following is NOT the stage of prenatal dévelopmcnt ?

(A) Foetal stage | B Embryoni_c. period
Q) Ofganogenesis period (D) Germinal beﬁod
Freffas & & &9 & o & o ¥ o 2 omen @i 3 2
(A) yomawEn (B) fe=meaen |

(©) s @ s 20 e

67 The pattern of change that begins at conceptlon and continues through the life span :

(A) Development (B) Growth
(C) Maturation (D) -Multxphcation

q&aﬂ?a?razqaﬁrﬁnﬁmwﬁﬁhaqmwﬁmtaﬁh%
(A) T (B) gfs
(C) v D) o=

68 When the baby turns head to one side, assumes. "fencer” posmon, entends arms and

legs on preferred side is

{A) Moro reflex (B) Tonic reflex
- (C) Babkin reflex (D) Rooting reflex

o 1y R A O 70 &Y, o @ g, we-Ie deng 0w e, 99 @
(A) it orgfer (B A e

(©) ula % 7wd & wewt omPew (D) wh amgea

s1/was2] 12 [ PTO.
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A small tube with a light source at one end is inserted into the uterus to inspect the

69
foetus for defects of the limbs and face is a technique called
(A) Aminocentesis (B) Ultrasound
(C) Fetoscopy . (D) Maternal blood analysis
F B Tl fres o see B i 6, m‘am’rnﬁmﬁmﬁﬁnﬁ%maﬁ'{@ﬁ
WX YEe % alie @ BEd ©
(A) I@Wﬁ'ﬂ (B) owzNHES
©€) WH&aEed (D) wrg & o
70 is the inner layer of cell that develops during the germinal period.
(A) trophoblast (B) blastocyst
(C) endocyst (D) embryoblast
Fifresr @l sl wed ¥, o ferare orafy % o frfi @ ¥
(A) PR B) =R
(€) w=iftre (D) TIHEE
71  Ability to use mental representation to which child has attached meaning is catled :
(A) Symbolic function (B) Spatial reasoning
(C) Conservation (D) Operations _
ARG WIS %1 SR BT e e e ¥ onf g e @ R
1
(A) Wb ami (B) wmitm as%e
(" SR (D) wftman
72 Altruistic behaviour is : -
(A) Action that harm others (B) Action that benefit others
(C) Expecting reward from others (D) Selfish behawour
Qe wEE A
'-(A)gesammfgeﬂw ,(B)'ngeﬁzﬁf
(©) @0 ¥ ¥W & oiE wen (D) el =
73 When 4 years old Saloni tells her mother that her doll cannot come and play because
she is sick and has to stay in bed, she is exhibiting the behavmr of :
(A) Egocentricism (B) Animism
(C) Realism - (D) Artificialism
Wwﬁaﬁmﬁm@ﬁ%%mﬁg&m@aﬁ%fmﬁmmm%
T T 139 g F G A B @ G B 9o g § 7
(A) ot (B) ira@miiger
(C) et (D) ghwwrn
51/wWAs-2] S 13 . [ PTO.
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74 The process by which child absorbs meaning of new word aﬂer heanng it

75

76

77

51/wAs2] 9 14

O eﬁ%—d Rl

(A) Grammar and syntax (B} Fast maping

(C) Social speech (D) Private speech
Wmﬁe%mw@@%%mmamwm maﬁiﬁam%
(A) =or a7 g/ Tam (B) wre Afy

(C) grfyes ah G))ﬁrr?rt-lﬁr_

A child hides history under a blanket and he smcerely believes that none can see
history as he is not able to see it. This type of thinking among chlldren is termed as :

(A) Concrete thmkmg (B) Abstract thmkmg o
(C) Centralised thmkmg D) Egocentrlc thmkmg

@maﬁﬁaﬁ%aﬁweww%m%eﬂwwm%ﬁsaﬁé*ﬂmw

ﬁﬂﬁé@m%ﬂ%wwaﬁﬁfem lm%wmﬁﬁaaﬁwaﬁ%% ?

(A) wide B) wﬁﬂ’ﬁ

(D) emﬂsﬁﬁae‘rﬂ

The processes by which an infant learns to reproduce de31red occurrences ongmally
discovered by chance i is : :

(A) Schemes (B) Tertiary reaCﬁon
(C) Circular reaction (D) Mental representation -

gwmﬁﬁmﬁeﬁmwﬁmmmmﬁmﬁwwﬁ@rm

(A) g
(©) i wfen

(B) Q‘cﬁﬂ%ﬁ%ﬁﬁm
(D) wmﬁmegaa

An area of the fore brain that makes up about 80% of the brain volume and plays

critical role in language, thinking etc.
(A) Cerebral cortex - (B) Medulla ,
(C) Cerebral lobe (D) Cerebellum

qﬁe@mwhﬁwwsonﬁamﬁw%aﬂtwaﬁetﬁmﬁwm
amE |

(A) Ifew weg
(C) wfem g

(B) ﬁiﬁﬂ
D) AN

" [PTO.

R 78

.\ . 79 -

. (C) Self perception

(A) I Y

80

81

(A) Gender Identity

GET IT ON
Google Play

The acquzsnmn of a tradltlonal masculine or feminine role is called
(B) Gender Role

(C) Gender Typing (D) Androgyny
mmwmem-mmemez

(A) T siftmr (B) i =

(© ﬁ‘-m zrsﬁw (D) ﬁﬁw

5 3 is the Jud gement we make about our own worth and the feeling associated
with those judgements. :
(A) Self concept (B) Self esteem
(D) Self confidence
Wwﬁ%ﬁwmﬁuaﬂrwaﬁmm% |
| (B) ¥ @9F
(C) s iy (D) & favard

Which of the following is NOT the part of language development durmg Early

- Childhood years ?

(A) Speech and vocabulary development

(BY Development of oral expression

(C). Development of listening skills

(D) Development of language imitation
ﬁmﬁiﬁaaﬁeﬁﬁwm{é—wa;m?wmﬁmmmﬂﬁ% ?
(A) &l @ s @ R

(B) #fgw aftrafm o1 fawrw

(C) g™ & s @ fwr

D) WW’WH&W#W

The cognitive ability that indicates the begmmng of the pre-operational” penod s
(A) Ability of symbolic thinking :

(B) Ability for goal directed behaviour

(C) Ability to make out other person's perspective

(D) Ability of decentralised thinking . '

Tl & 9 9% 9 aF-O g aaa Ry Errré’rﬂ‘s‘ tﬁwel’ammmwr

e A

(A) Y T B g

() TEd % Rt @ e T W W |

O g d @ g

SI/WAS-Z] > 15
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ST B 91 ) dA merchant purchases an 1tem for'? 300. He marks its pnceas? 700Heallowslﬂ%
i 1scount on cash payment %&t 13 total proﬁt in t amount and j)eméhtﬁgé vE

T o g #2500 % =T & 195 39 0 T 700 s o 'W
B “.T. 10% 33.@?3_ %*cn % l_ufér’aﬂr trf‘crsﬁm A gw zﬁn W% by W--

< - -5_:_5(D"?120 14%

e Google Play

d r thc statement and the foils}wmg assmnptmns mﬁ {"::»’léf?’* which of the

'_Thc teachers of aEl degree colleges Wem“ on an lﬂdeﬁﬂltu stqf & i g’ji‘_@&:ﬁ agi e
'govt's dcmsnon tor postpondmg pay rewsmn to ncxt year _— T Lt

_ " a watch; __a_shopkee' :
_dlscount on the face valuc then" hls_'pmﬁt percen

.he g.nlfeg.. 13% vemment ma‘y suspend aJE the smkmg teacherg

a o The: govemmcmt may revise thc pay of ths coiiege teamers in .«ka H,m . ;f i o

(A __-_*'-As'sunija‘t'i'én M is 'i'mp!‘icit’*-”* o

Assump tl 011 (H) 15 unpilClt

25{}::_ for- 10 years At what :rate _Of_ Slmple mt

amount of 226,350 at"th o © E1thef assumptlon (I) or (H) is lmplxmt

(D) Both assmnpt:lons (1) and (H) are zmphcat | ) B

ﬁfr 11?} o a?ﬂ a'a% rﬁ% é’f TI‘&‘ I@‘W@ﬁ W femrz m ﬁ‘ﬂ' *éﬁ“‘“* f’“} Tt T“"ﬂ 95*".“‘-- B

o o mﬁiﬁﬂ 51

aawafma;ﬁufm e £ wﬁ‘raaﬁﬁ%wrt as ﬁ{ﬁaéa wu— w %g Mz
%5 AT mﬁf&aa mﬁﬁf-r ma = aﬁ mzf, i |

(1) R mﬁ amﬁ m a.ef mfaa X w—ﬁ % - EERR
(In w awqaef 5 aa-:r a%T irr@;a'é es Hsi‘rﬁm w w—&’r % =

The __11_1terest ona certam' sum of money fbr 3 years is T 105 and wi
rate the compound interest for 2 years is ¥ 70.70. The Tate pe

@"P”&W .._;_JWSHﬁﬁrmww?ws qmad e R 2 S Shreat
¥ 15t s bk b |

_"(A) a,—q-a qumvn (I) mﬁ%ﬂ % l
_(D): @Wﬂ)aﬂr(ﬂ)ﬁwﬁ&a%:
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27 A statement is followed by two arguments numbered {I) and (I1). You have 0 decide
‘which of the arguments is a ‘strong’ argument and which is a ‘weak’ argument,
Statement : | | | |
Should subsidy on LPG be banned ?

: Argumént : | |

(I} Yes, this would help the government to reduce the financial deficit.

(I} No, poor families will have to face the problems.

£

{A) Only (1) is a strong argument.

(B) Only (IDis a snong'argument.

(C) Neither (I) nor (II) is a strong argument.

(D) Both the arguments (I) and (II) are strong, -

_qum%mﬁa‘ra%(l)am(ﬂ)ﬁrqw%‘ :mmm%%#mw@%w
a?mma%f?ﬂfiﬁr% )

—
. ¥ TN ot aRedl (sEw) €3 o wiRg ¢

O ¥ @ TR A i w9 e e e |
(1) 7, 8w Wit ot e w1 W e o

(A) T Hggab
B) ¥ ()& THE |
CRIELIEE LY
@) A o (O v 1) 35 ¥ |

51/ WAS-2 ] ‘gj | | 20 [ PT.O.
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98 What number must be added to the numbers 4, 8, i6, 26 so that they become

proportional 7

et 4, 8, 16, zmﬁammaﬁmmawaaﬁ?
(A) 2 B) 4

(C) 6 o 8

99 . Two whole numbers whose sum is 72 can not be in the ratio :
a@mﬁwa‘mn% ﬁ%ﬁwﬁﬁﬁ%wﬁﬁﬁs‘r’@ﬁ%?
(A) 5:7 (B 3:5
©y 3.7 D) 4:5

100 Seats for Mathematics, Physics and Chemistry in a college are in the ratio 2 : 3 : 4.
There is a proposal to increase these seats by 40%, 20% and 10% respcctwciy What

will be the ratio of increased seats ?

% ey ¥ T, DR gt @ We @ oue 2 03 0 4 (A w5 mEa
40%, 20% Tar 10% =gy 1 ware & 1 ot g e @ oru w g ?

(A) §:7:8 By 7:9: 1
€y 7:9:10 (D) 8:9:11

101 In an election between t_Wo candidates A and B, A got 61% of total votes cast and won
the election by 3806 votes. If no vote is declared invalid, then the total number of

votes cast is - :

& e A qer B % W g ¥ A Y pw s g T4l B 61% W fear aur 3806 it
A @ e | o A W A erde aifva € e T, @ 39 s T R -

(A) 6747 B) 9759 :

(C) 10553 (D) 17300

102 The price of petrol increases by 25%. .By what'perccntagc must a customer reduce ti}e
. consumption so that the earlier bill on the petrol does not alter ? '

ﬁiﬁﬁmﬁzs%qﬁgéﬁ%imaﬁmwmuﬁmwmmm
U2 o frgen o W wEq 7 |

(A) 20%
) 30%

51/ was-2] S 21 -

B) 25%
(D) 33.33%

f PT.0.
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7

104

(A TS50

105

51 7/ WAS-2 ] ‘gfr’ 22

106

103 A candidate who gem 20% marks, fails by 10 marks but another candldate who gets

42% marks, gets 12% more than the passing marks. Maximum marks are -

U TRERT St 20% afe Wi < E, ﬁ%lﬂmﬁwﬁw%iﬁﬁmmw
;&mﬁﬁaﬂz%wmm T8 Sl il ¥ 1 Z%WWWW%!W%
(A) 50
() 100

(B) 80
D) 120

By selling a chair for ¥ 56, a man gets a percentage profit equal to its C.P. Thé CP
of the chair is -
wﬁfaﬁ?s&ﬁaﬁfq{@mﬁrm}mﬁw%wwmmmﬂm% 1 %
B BT YT & -

(B) . T 48

© 45 D) T 40

There is 10% loss if a toy is sold for ¥ 1440 At what price it is to be sold to get 15%
profit ?

% R T 1,440 7 4 5 10% 3§ i Rk ok F e o 15% |

AN W7
(A) % 1,820 (B) T 1,840
(C) % 1,860 D) T 1,880

A trader mixes three varieties of rice costing ¥ 50, ¥ 20 and ¥ 30 per kg in the ratio

2:4:3 in terms of weight and sells the mixture at ¥ 33 per kg What percentage

of profit does he make ?
TF =AY F wrad & a9 el e S 50, ?203&11?30:{%&5;11 H2:4:3

ﬂw%mﬂmw%wﬁwaﬁﬂsmﬁw a?ra'{@rﬁfrcn% twﬁﬁr«% |

| QfqoT WY T &7

107

- (C) T 160

(A) 3%
© 10%

®) 5%
D) 15%

The marked price of an artlcle is ¥ 250. The shopkeeper gives a dlscount of 20% and
still gets a profit of 25%, then the cost price of the article is -

O ag] & ot e T 250 ¥ | qHE 59 W 20%aﬁsgzaa1%ﬁmah25%mmﬁ{a
Hen ¥, W a6 B Y T ¥ -
(A) T 148 (B) ? 150

D) T 200

[ PTO.
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109

110

111

N (C)
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The surm Of the ages of two persons A and B is 50 years. 5 years ago, the ratio of their
ages was = . The ages of A and B after 5 years will be - |

(B) 30 years, 20 years
(D) 40 years, 20 years

(AYy 35 years, 25 years
(C) 38 years, 12 years

& wfrrdl A ol B ®1 ong @ dw 50 o & tSa&{éGﬂﬁrmwaﬁm— oo
5ad A A wer B % oY BN - :
(A) 35 =d, 25 =d
{C) 38 =, 12 a9

(B) 30 =, 20 @
(D) 40 =M, 20 9%

Binny is half as old as Sunny. Pmky is twice old as Sunny. How many times is Pinky
as old as Binny ?

ﬁr«ﬁaﬁargﬂ-‘vﬁ@ran@r% ifﬁﬂ%a?tmgav-vﬁﬁgn#% R, H%mwaﬁ
¥ 7

@) 1
€ 4

B) 2
D) 8

Five years ago, P was thrice as old as Q and ten years later P shall be twice as old
as Q. The present age of P is :

(A) 20 years (B} 30 years

(C) . 40 years (D) 50 years

.wﬁ%ﬁPﬁmQﬁﬁﬁ@ramwaﬁasaﬁPﬁsmgQ%gﬁﬁéhﬁ PP
A9 9 7 - |

(A) 20 o (B) 30 =
©) 40 a¢ D) 50 =
Find the odd one - | -
(A) Moon (B) Earth
© ®) v
o | D) =
"_-'f:_'WAs 2] gj’ o 23 [PTO. .
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112 Which of the following alternatives is odd ? 117 A statement .is followed by two conclusions numbered (I} and (). You have to decide
= 4 B ¥ which of the conclusions follow from the given statement. -

(A) 16 - 64 . B 17-68
Statement :
(Cy 20 - 100, (D) 21 -84 ‘
' Unemployment is one of the major reasons for country's poverty.

113 If PUT = 19, WAKE = 10, then MUSIC = ? o - ~ Conclusion :

aft PUT = 19, WAKE = 10, wa MUSIC = ? - | - - (D) Providing the employment opportunities will reduce the problem of country's

(A) 12 ' B) 13 o ' _ poverty. ‘

(O 14 | D) 15 | _ o : (I) All the people in the country are un'employcd.

114 If 74683 means GREAT, then 7684 means -
aft 74683 % s GREAT &, ot 7684 @1 af ¥ — | |
(A) HEAR o (B) GEAR ‘ - - N (B) Only conclusion (II) follows.

(C) REAG (D) GAER . » (C) Neither conclusion (I) nor (IT) follows.

~ {(A) Only conclusion (1) follom.

- - | | (D) Both conclusions (I) and (IT) follow.
115 Amit is the son of Rahul. Rahul's sister Privanka has a son Yuvraj and a daughter ' ' : .
Indu. Raja is the maternal uncle of Yuvraj. How is Amit related to Yuvraj ?

(A) Father | (B) Uncle- . | - Qaﬁiﬁaﬁ%saﬁﬁﬁr&séa)am(ﬂ)ﬁqw%lmwm%ﬁﬁﬂﬁmﬁw&ﬁq
(C) Cousin o (D) Nephew | | Tq e & Prewar &
mﬁangamgﬁ%:wzﬁmﬁwm@ywaﬁ?@wﬁ%lww H

ww%amamm#wm%? | o | \

(A) R - (B) arn | | ﬁﬁmﬁ,%ﬂaﬁnﬁ%%ﬁq@g@m%n

(©) W . (D) when | . : fier -

@O ﬂw%wwmﬁ%%ﬂaﬁmaﬁmw@ﬁi

116 Pomtmg to a lady in the photograph Pnya.nka sald “Her son's father is the son-m- (II) W % @ TE

“law of my mother.” How is Priyanka related to that lady ? |
(A) Mother | B) Sister - R (| — _
(C) Aunt | (D) Daughter | L (A) e Preed () PrewaT ¥ 1

¥R ffﬁﬂﬁ'& , |
T i o 3 o iy 3T @) e

&) ' ® W= - | | (O 7 e fred @) 7 & (1) P
(© W | RN S L () 3 P () @ (1) P ¥

s1/was21 3 | % : [ PTO. 51 /WAS-Z'] % - Y | [PTO.
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118 A man starts from a point and moves 3 km north, then turns to west and goes 2 km 121 Choose the correct alternative which can be substituted for the given word/sentence.
He turns north and walks 1 km and then moves 5 km towards east. How far is he from That which canniot be corrected. _
© starting point | e ' o - {A) Unintelligible (B) 1llegible
(A) 8 km | B) 3 km | IR TR () Incomigible . (D) Indelible
@wﬁammﬁmmm% aﬁ-(gfaﬁ Wﬁﬂﬁm% liﬂ%aﬁﬁfﬁﬂqﬁ 122 Change from Assertive to Negative.
gs'cb‘{?.%ﬁ?t ae & | 98 IaC ¥ geeT 1 fE W%aﬁ'{sﬁﬁ‘r ‘]ﬁﬁ‘w%lm _ Ewasdoubtﬁjiwhetherltwasyou
& wrhueE W ﬁ' R X % ? . B N P (Aa) I a.m doubtful whether it was you.
(A) 8 fF. B) 3 m SRR | (B) I am ‘doubting if it was you. .
© 5 Py - O) 11 i%?ﬁ (C)I am not sure that it was you.
: S - (D) 1 was not sure that it was you.
119 Monu after travelhng 6 km towards east from his house realizec _that he: has travelled 123 Transform the foll owing sentence from affirmative io negative from the options :

in a wrong direction. He turned and travelled 12 km towards ‘west; tumed nght and

- (without change of meanin
travelled 8 km to reach his office. The strmght dJstance‘ of 'the oﬁ‘ice fram hls house ( & - &)

" You must yié}d to your fate.

| ;:) 20 km ' ®) 14 km. (A) You cannot but yield .to your fate,
(B) You should not but yield to fate,

. © 10 kun o : D) 8 lcm R o (C) You have no other option so better challenge your fate,

-‘ﬁiﬁmﬂﬁﬁﬂ%ﬁfmﬁ6ﬁﬁr aﬁq&mmﬁ%mwwmﬁsmﬁw | (D) You need to yield to your fate,

e & ot e o & 1 = AW o o wivew A R F 12 fol B gl ww o, aef el o A | |

W S Hratey Hgﬂe{ % forg 8 %ﬁr a?t ?{ﬂ fﬂT ﬁ I Wﬂ‘i 0 @f EHIEﬁﬁ!T a?f W @ ' 124 Select the correct transformation from active to passive voice.

-% o ' Lo o They cancelled all flights because of fog.
B @_ 20 for, (A) All flights will be cancelled because of fog.

(C)" '10_%‘&- : (B) All flights were cancelled because of fog.

R S _ _ (C) ~ All flights are being cancelled because of fog.
120 Soml goes 10 km towards north and thcn he turns 45° to the nght and goes. 6 km (D) ng Was the reason flights were cancelled.
Then he goes § km after tummg tO the right. Now what is the dlrectlon of hxs face .?-.' L

(A) South East o “(B) South - West ¥ o
(C) North - East  ®) North- West

" S @ o 10 ks o 45° g 6 o e ¥ | o
gem{ § fpdY, w% | oY gaar U Rew Rw Ay 2

(A) o~ (B) o - qﬁatl
() s - = _' o (D)wwfhm

125 Choose the correct direct speech of the followmg sentence from the options given
below : '

They asked me Whether T was ill.
©.. {A) They said to me, “Were you ill 7”
(B) They told me, that “Are you ill ?”
" (C) They tell me, “Are you ill 77
i (D) They said to me, “Are you ill 7

'/__WAS-2 ] Sﬂ’ 27 [ PT.O.
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126 Choosg the correct indirect speech of the following sentence from the op_tions.giw'/en : 132 Choose the correct sequence of tenses.
| below : ' | | | He _ because his feet dirty.
He said, “Hurrah, I have won the quiz.”_ | : ' ' (A) bathed, was ' (B) was bathing, were
(A) He said joyfully he has won the quiz. - ' (C) was bathing, are _ (D) was bathing, will be
(B) - He exclaimed with joy that he had won the quiz. o |
{C} He exclaimed joyfully that he won the quiz.. o 133 Fill in the blank with the correct form of tense.
(D) He exclaimed with joy that I had won the quiz. ‘ o - The commonwealth games place every four yeérs.
(A) 'has taken _ : (B) take

127 Choose the cotrect assertive form of the foIlowmg sentence from the Options below : ' (C) takes (D) is taking
What a fine doctor he is ! '
(A) Heis a doctor wheo is fine. (B) He is a very fine doctor. . 134 Choose the correct form of Passive.TranstHnation of the sentence given,
(C) Isn't he a fine doctor | | (D) He isn't a fine doctor. . They were carrying the injured player off the field.

S _ (A) The injured player had been carried off the field.

128 Choose the correct antonym of the foIlowmg from the Optlons gwen below : (B) Off the field the injured player was carried.
“Alleviate” _ ) L | | (C) The injured player was being carried off the field,
(A) amghorate (B) aggravate . ' (D) The injured player was carried off the field.
(C) upgrade (D) assuage L

_ 135 Choose the correct interrogative form of the following sentence from the options
129 Choose the correct sentence in which the subject and the verb agree: _ below .. |
A (A) The state of his affairs were such as to cause anxiety to his creditors, ‘She doesn't obey her teachers,
' (B) The mayot, with his councillors, is to be present. L - -~ (A) Doesn't she obey her teachers ?

(C) Bread and butter were his only food. | - o (B) Doesn't she ever obey her teachers ?
(D) The house, with its contents, were insured. I B | | | (C) Does she never obey her teachers ?

| - (D) Does she obey her teachers ?
130 Fill in the blank with the correct degree of adJectlve from the given optlons | '

‘Sheis than clever. : A . : r 136 Choose the correct assertive form of the following sentence from the options below :
(A) braver o (B) more brave - ' ' HOW cold the weather is ! '
(C) brave (D) more braver o S (A) The weather is not cold. {B) The weather isn't hot. _
' (C) The weather is very cold. (D) Never was the weather so cold.
131 Choose the correct synonym of the followmg word from the optxons below : _ - . ' | - '

“Flckle” o . o o 137 of what he said was very sensible.

" (A) inconstant (B) consistent o ' | (A) Many " (B) A few
(C) unchanging | (D) firm _ (C) Every _ (D) Much
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141

Fill i the blank with the correct preposition from the options given below :
She drew the picture a crayon.

(AY by - (B) with

(Y tor , D) to

Filt in the blank, chioosing the correct preposition from the given options :

His house is _ the mall,
{A) besi - ~ (B) beside .
() into (Dy ull

The most apt Hindi translation of the following sentence will be :
Her siience proves her guilt.

(AY us wom By oo gq%mﬁﬁw%ﬁﬁagﬂ@r% z

(B ooet ool I8 STt W AR Wl ¥

C) wme gl oe% o W ) anid ¥ )

D) v g ve wiRe T ¥ R oo & ewom Pra |

Choose the correct English translation of the following sentence from the options
glven %3 slowr | ‘

w5 wga O WY e |
(&) He is'running very slowly.  (B) He has been running slowly.
(C} e ran very slowly.. (D) He was ruaning very slowly.

Z Choose the seatence in which the subject and verb agree.

{A) Fach one of the shirts has a green collar.

{B) .’Cmr y one of the shirts have a green collar

i) Fach of the shirts have a green collar.
(D) Bach of the shirts have had a green collar.

i 1; in the blank with the correct option :

143
| He is very _
- {AY decent ' B) dissent
A{C) descent (D) descend |
51/ WAS-2 ] Eﬁs" - 30 | - [ PT.O.

144 Choose the correct option and fill in

the blank.

She herself to the new environment.
(A) adept (B) adopted
(C) adapted (D) apt

GET IT ON
Google Play

145 Choose the most apprdpﬁate connective to join the paired sentences from the given ..

options :

The game ended. The referee blew his whistle.

" (A) or
(C) when

(A) Ballotage
(C) Clas_siﬁcation_

(B) but
(D) also

(B) Bailable
(D) Banishment

146 Choose from the following options the most apt English version of ‘Frafe= :

147 Choose the correct Hindi translation of the following word from the given options :

Notificaiton

(A) rfergereT

(C) s

B) g
(D) uhgs

148 Replace the underlined part of the following sentence with one word from the options

bclow

He IS a person WhO doesn't eat meat

(A) non-vegetarian

(C) carnivorous

(B) vegetarian
(D) omnivorous

149 Choose from the options given below, the word formed by the prefix ‘Im

- Options :
(A) Important
(C) Tmage

(B) Impatient
(D) Imagination

150 What suffix can you not add to the end of the word ‘harm’ to make a new word ?

(A) ful
C) ed

51/ WAS-2 ] >

(B) ing

- (D) est
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